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The bracket rotates relative to the coordinate system about a
fixed shaft that is coincident with the z axis. If it has a counter-
clockwise angular velocity of 20 rad/s and a clockwise angular
acceleration of 200 rad/s2, what are the magnitudes of the acceler-

ations of points A and B?

Cewerr WMatwu

\leKOQX\?r \
A‘ = \I R .
~ ¢ VRIB {>‘«7\' V«k(g\ .,\: X IA-/B

uMue, w "T,s T Cu&imUu\r Ve\mfﬂl vecke v ’Pum(le\ ‘e
‘e Crustautan ecgu/s\ akd ot revratyeit



~ S
EA: \’I‘?bi— C}&—é&fl&\: \,{K{’ \,}? kfkl&
Ta= Se

By SAE T Ay g (W % i)

- Ct}+ L%:KTNK\ S L%&,XMB)

\%tx"" Ay «

3 2o la v R (R ruxﬂ




